AP Calculus AB
Friday, September 13, 2013

Bellwork...Discuss last night's homework with someone, please.

Formative Assessment on Limits & Continuity /
Whet needs to be in place in order
for ¢ limit to exist?
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21. Given two functions f(x) and /1(x) suchthat f(x)=x" —3x"—4x+12 and

‘ f(x)

nx)=4 -3

P for x=3
a. Find all zeros of the function f.

b. Find the value of p so that the function /1 is continuous at x = 3. Justify your ar
c. Using the value of p found in (b), determine whether /1 is an even function. Jus
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